Homework 9A: Superposition, Thevenin with Dependent Sources

Superposition

18-2. Using superposition, determine the current IL through the inductance for the networks given below.
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Thevenin Equivalent Circuit:

18.13. Find the Thevenin equivalent circuit for the portions of network shown,  external to elements between points a and b.
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18.14. Find the Thevenin equivalent circuit for the portions of network shown,  external to elements between points a and b.
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18-25. Find the Thevenin equivalent circuit for the network shown, to the left of terminals a and a’.
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